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Voltage (or potential difference) is the energy required to move a unit
charge through an element, measured in volts (V).
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where w is energy in joules (J) and ¢ 1s charge in coulombs (C).
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Courtesy of Vishay Intertechnology, Inc.
Courtesy of Hifi Collective. FIGURE 2.4-7 A 1/4-watt metal film resistor. The body
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Nopot tou Kirchhoff:
(KCL)To aBpolopa Twv peupdtwy o€ KaBe kOUPo eival pndév
(KVL) To aBpolopa Twv tdoewv o€ kABes Bpoyxo sival pndév
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Ze KAOe avtiotaon yvwpilw otL V=RI (Ohm)
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Table 3.5-1 Parallel and Series Voltage and Current Sources
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Series resistors

Parallel resistors

Series voltage
sources
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Parallel current
sources
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